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Problem 1: 

T. J. Lawling (Lawling), an aspiring author, entered into a publishing contract with Jefferson Square Press (Jefferson) for the publication plaintiff’s second novel.  Lawling’s first novel was self-published and sold a few hundred copies over the internet, but Jefferson saw real promise in Lawling’s new novel, an adventure story (Larry Planter and the Legal Tome) about an aspiring lawyer who learns how to fight social injustice and economic inefficiency through the development of magical powers at a special legal academy called Valwarts.  Jefferson was to pay Lawling a $10,000 advance upon Lawling’s delivery of the manuscript plus 10% of the retail price as royalties on the first 50,000 volumes sold.  Jefferson had 60 days to notify Lawling if the manuscript was not suitable for publication.
Lawling timely delivered the manuscript and was paid $10,000.  She received no notice that the manuscript was not suitable for publication, and was hard at work on the next novel in her series, Larry Planter and the Secret Chamberpot, when she learned that Jefferson had been acquired by a dark and mysterious publishing company, Waldemart Books, believed to have killed been off by Amazon.com many years ago but now returned and threatening to dominate the publishing market.   Waldemart decides to pass on Lawling’s novel.  Lawling used the $10,000 in royalties to publish and promote her book on her own.  The book did not sell well. 
Assume that Waldemart has taken on Jefferson’s relevant contractual obligations.  Lawling sues Waldemart for breach of the publication agreement.  Since she thinks her book sales would increase tremendously if her novel were published and promoted by a well-known press, so she seeks specific performance of the original agreement – that is, she wants re-publication of her first novel by Waldemart.  In the alternative, she seeks damages for lost profits (the royalties she would have had) and reimbursement for the costs of self-publication.  Finally, Lawling teaches at a university, and she claims that her promotion to Associate Professor with tenure was delayed one year because of Waldemart’s breach. She seeks damages for the harm done to her career.

a. What remedy or remedies should the court grant to Lawling?
b. Assume that before Lawling brings her claim, Simon and Schuster agrees to publish Lawling’s second novel in the series, which Lawling re-works with material from the first novel so that readers unfamiliar with her hero can get his backstory.  The novel sells very well, and Lawling makes $300,000 on the royalties.  Do these facts (which you should not consider in answering question 1) change her likelihood of success on her damages claim?
Problem 2
a. Jane is very excited when she signs a two-year contract to work at as a sales manager at Pier 2 Exports for $100,000 a year.  She is less excited when she is wrongfully discharged after six months.  Jane seeks new work for three months but is unsuccessful in finding work.  She then hires a headhunter who eventually finds her work as a sales manager at Radio Hut.  After six months out of work, she enters into a one-year contract with Radio Hut for $90,000 year, but she has to pay 10% of that to her headhunter.  If she can successfully sue Pier 2 for breach of contract, what are Jane’s damages?
b. Assume the same facts as 2a, but now Jane’s headhunter can only find her work as a salesperson at Pretty Good Buy, a cut-rate electronics store.  There is no salary.  Jane would be paid minimum wage plus commissions, and she would be an at-will employee.  Jane decides not to take the job, and she remains out of work through the remainder of her contract with Pier 2.  A successful salesperson at Pretty Good Buy can make up to $75,000 a year.  What are her damages now?

c. Bob the Builder and Harriet the Homeowner enter into a contract for the construction of a home for $200,000.  Bob estimated construction costs of $180,000.  But when the home was half completed, Harriet breached.  By that time, she had already paid Bob $67,000, but he had spend $95,000 on labor and materials.  He was able to use $15,000 worth of materials on another job.  What are his damages?

d. Same facts as c, except that this time it is Bob who quits halfway through the job, leaving her with a partially-completed house worth $50,000.  Harriet hires another builder who completes the house for an additional $150,000.  Her experience with Bob soured Harriet on the house, and so she sells it as soon as it is complete for $225,000.  She then sues Bob.  What can she recover

e. Same facts as d, except this time, at the time when Bob quits, Harriet has paid him nothing. Can Bob recover even though he breached?
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